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101|R#A7 L 365 163 202| Kg |EE 1,620 486| %)l 2,700 647
102|357 L 1,882 1,882 Kg BIE 1,566 800
111|&EEF £ 467 14 453 Kg |fEB 1,404 216|188 - &40 1,728 282
113|RAV S 22 11 11| Kg |EE& 1,836 594|185 2,700 1,944
114|B5EFE 202 13 189| Kg |ERES 648 BERE - 8E 2,700 1,296
15[ 1= 5 3 2| Keg |EE 1,188 755| fLE 2,700
117[1E 14 13| Kg |EM& 540 216| 3,780 1,080
121|hbixE 111 78 33| Kg |ES 1,620 702| £l 1,620 864
134[#= = 226 175 51| Kg |G- =4 2,300 1,400| & 4,320 1,944
137|&5ES. < 227 197 30| Kg |EIE 3,888 1,188 BHR 4,644 3,240
138|Hm % 2 59 59| Kg FE 1,080
140(5 I 3 3| Ke E[A=s 28,800
147|EZ O 67 67| Kg |EE 15,120 3,783|hiE 8,100 4,000
168|BIEM AL H 252 252| Kg =40 2,106 1,404
201|{Lb L 522 522| Kg 4 - T 396 288
203|/Né L 92 92| Kg FfE 324 270
205|5u8 L 352 352| Kg il 594 540
206| 1 563 563| Kg FfE 1,512 540
208| Mo % 77 77| Kg ML 1,620 864
210{1F AL 80 80| Kg RI5 2,295
212|&5E.3 Y 780 780| Kg E - BB 1,998 972
251|< £ <3 200 200| Kg K% 3,888
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254|ED12ELCA 588 33 555 Kg [#1ER 1,847 TIE 2,268 1,166
3031 A 7Ly 42 42|  Kg i 648 450
305[£Aah 0% 3 1 2| Kg [EE 648 "E 1,890

319|2h o 290 32 258 Kg |EW 702 & 1,620 621
332|= 13 WA =EF 109 109] Kg Bl = 2,376 2,052
351(4EH 18 8 10 Kg |E=E 5,940 E=AES 3,510

35411FxE<Y 60 20 40| Kg |FFE 1,620 FIE 1,836 1,134
355(mp Y 90 5 85| Kg [FE 756 time - BE 1,728 600
356(L L& 50 501 Kg SER 1,512 1,080
357|7RE 87 87| Kg i 3,888 1,148
358|KE 10 10| Kg FAN 2,376 1,944
362| & 313 313] Kg N 4,104 468
4025 E 10 10| Kg FAN 5,292 4,644
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A—uhh 47 471 Kg 2P 810 287
AN 100 100] Kg i 1,450 950
AERAT AT 294 294 Kg 2P 3,888 1,125
ARTEZL 180 180 Kg E2p] 1,800 1,342
JE WA AE 10 10| Kg Bl = 1,050

iy} 200 200 Kg i 972 756
Jarys: e 351 351 Kg 2P 3,750 1,080
ARSI 25 25| Kg i 1,000
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70110 BA 567 567 Kg mE - Ko 2,376 1,404
705|7=2< ¥ 107 107] Kg LA 2,052
710(2 2 AT 11 11 Kg =4 1,375 1,350
713|IL L» & HF 12 12 Kg 2yl 945
BlBEFALANIN 251 210 41 Kg |B1R 771 684| &R 2,592 720
755(Fd L 39 391 Kg B 775 710
56| £ 9 5 5] Kg RIE 1,588
759|565 EE L 12 12 Kg =, 1,260
76l|1b Y AEE 12 12 Kg &R 1,980
76713725 WD 56 56| Kg EE 2,340 2,232
801 =T 138 138] Kg bF 1,728 432
802|111 20 201 Kg blo ] 1,242
805 = 1E 1,132 1,132 Kg bF 972 378
810|BAKTF 67 67 Kg B =2 2,760 1,728
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